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414.6 x 1072 = 1003 =
552 +1002) = 3% 1002 =
856+ 1001 = 2% 10% =
1003 = 4% 100D =
426+ 1001 = 192.8 = 1003 =
1003 = 8 x 10% =
10" = 718.5 x 10% =
4% 1002 = 579.3 x 10071 =
—1x 1007 = 390.1+ 100 =
1009 = 4382 x 1002 =
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414.6 x 1072 = 4.146 107 = 0.001
552+ 107 = 55200 3% 1072 =0.03
856 + 107 = 8560 —2 % 10% = —200
107 = 0.001 4x107Y =04
426 + 100" = 4260 192.8 + 107 = 192800
107% = 0.001 8 x 10° = 800
1077 = 0.1 718.5 x 10 = 71850
4% 1077 =0.04 579.3 x 1001 = 57.93
~1x 107 =-0.001 390.1 + 107 = 390100
107 = 0.0001 4382 x 100 = 4.382
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